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Elimination - Method used by adding or ). SENER]
Subtracting linear equations. Used mostly =/ X=-2 _ _3_3_
when the lines are written in standard form 7 - @
A% +y=%K- Q
StepS: 1. Make sure equations are lined up AN T ~

2. Add or Subtract the equations to eliminate 3 4 S)
either the x or y variable with common coefficients
3. Solve for the remaining variable
4. Substitute the answer into one of the original

and solve for the other variable

Jan 17-12:36 PM Jan 17-12:48 PM



algebra Jan 17.notebook

January 17, 2018

\§\+ 4y=13 v Bothin axtby=c
&) Y =3 X-2=73

+2 +3
X =5

3

p"'l

Y

3) \Q:—'D‘/——l*
O X~V =15 3y-94)=1s

~‘7 = ~ IX=-9=15
3 oty
L) 3X=3y

*=§

Jan 17-12:50 PM

Jan 17-12:53 PM

5 4 +°,\/=5 L{X+ql>:_§
X +IY=1 ,@T&T
|(,¥:IB =

e [~

N ST

a) “l\/—_’)_x—? 4)(_7)(8
Sx- 4y=20 [ —ax "X

~ X + Hy=

-a X Y-y 7=-¥

Yy = a6  S(¥)-4y=20

3>("' IZ &0‘4 :9\0

X
x=y  [(Ho) —hf:;g

Jan 17-12:56 PM

Jan 17-12:59 PM




	Page 1
	Page 2
	Page 3

